Installation Instructions

READ BEFORE INSTALLING UNIT
For SLO3 Air Conditoner (8,000~12,000 BTU)

INSTALLATION WARNINGS AND CAUTION

% Carefully read the installation manual before beginning.

* Follow each step as shown.

* Observe all local, state, and national electrical codes and by qualified, licensed, authorized personnel only.

% Pay attention to danger and safety notices.

To avoid risk of personal injury, property damage, or product damage due to the weight of this device and sharp edges that may

be exposed:

% Air conditioners covered in this manual pose an excessive weight hazard. Two or more people are needed to move and install
the unit. Wear protective gloves whenever lifting or carrying the unit. AVOID the sharp metal fins of front and rear coils. To
prevent injury or strain, use proper lifting and carrying techniques when moving unit.

* Carefully inspect location where air conditioner will be installed. Be sure it will support the weight of the unit overan extended
period of time.

* Handle air conditioner with care.

* Make sure air conditioner does not fall during installation.

Tools and Parts:
Gather the required tools and parts before starting installation. Read and follow the instructions provided with any tools
listed here.

TOOLS NEEDED

o Flat-blade and Phillips screwdrivers e Tape measure

o Level e Drill and 3/16", 1/8", 3/32", or smaller drill bit

Through-the-wall Installation:
In addition to the tools listed above, the following tools are needed for through-the-wall installation.

TOOLS NEEDED

o saw e caulk o #10 X 1" wood screws (7)

e 1" (2.5 cm) or thicker lumber

Parts Supplied:
Check that all parts are included in parts package:

Hardware Qty. Hardware Qty.
E #10 X 1/2" pan - head 3 Top channel 1
Phillips screws

#10 X 1/2" round - head 7 / Window sash seal 1
screws

#10 X 1/4" pan - head 5 - Foam seal 1
Phillips screws

2
window lock bracket 1

o) | v

i
~

side curtains 2 \%>“ $afety Locll< 2
‘\“ (for Vinyl-Clad window)

weather seals
(6"X3/4"X1/12") 5

R\

2020213A1640

1



Installation Instructions
&\ NOTE:

¢ |nstallation parts are supplied for double-hung windows up to 36" (91.4 cm) wide. A special Wide Window Kit is
available from your dealer or service center. See “Accessories.”
e Do not use any screws other than those specified here.

Location Requirements:
IMPORTANT:Observe all governing codes and ordinances. Check the location where air conditioner will be installed.
Proper installation is your responsibility. Make sure you have everything necessary for correct installation.

* Grounded electrical outlet within 4 ft (122 cm) of where the power cord exits the air conditioner.

* Free movement of air in room to be cooled.

* A large enough opening for the air conditioner.

* Adequate wall support for weight of air conditioner. Air conditioner weights between 70 and 85 Ibs (32 to 40 kgs).

& NoTE:

* Do not use an extension cord.
e Cabinet louvers must not be obstructed. Air must be able to pass freely through the cabinet louvers.(FIG.1)

Window Installation:

Window opening measurements (FIG.2) :

* 26-7/8" to 36" (68.3 cm to 91.4 cm) opening width.
* 16-1/2" (41.9 cm) minimum opening height.

FIGA FIG.2

>
— w

I

A. Cabinet louvers A. 26-7/8" (68.3 cm) minimum
B. 16-1/2" (41.9 cm) minimum

Remove packaging material:

* Remove and dispose of / recycle packaging materials. Remove tape and glue residue from surfaces before installing
the air conditioner. Rub a small amount of liquid dish soap over the adhesive with your fingers. Wipe with warm water
and dry.

* Do not use sharp instruments, rubbing alcohol, flammable fluids, or abrasive cleaners to remove tape or glue. These

products can damage the surface of your air conditioner.

Handle the air conditioner gently.

. Remove the air conditioner from the carton and place it on cardboard.
. Remove 1 shipping screw from each side of the cabinet (FIG.3A).
. Remove front panel by removing 1 Phillips screw from each side of the front panel. Set screws aside and save
(FIG.3B).
4. Rotate Front Panel up until top tabs are free. Pull panel straight out. Depress latch on electronics plug (on some
models) to disconnect. Remove Front Panel from unit (see Fig. 4).
5. Pull on the handles to slide the air conditioner out of the cabinet. Place the air conditioner on cardboard (FIG.5).

2

WN = g



Installation Instructions

FIG.4 FIG.5

electronics plug

A. shipping screw B. front panel screw C. handle

&\ NOTE:

Handle the air conditioner gently.
e Be sure your air conditioner cabinet does not fall out of the opening during installation or removal.

e The place where the power cord exits the air conditoner should be no more than 4 ft (122 cm) from a grounded
3 prong outlet.
¢ Do not block the louvers on the front panel.

e Do not block the louvers on the outside of air conditioner.

e Do not lift, pull or remove any expanded polystyrene (foam) from inside of the air conditioner. It is not packing
material

Attach Top Channel (FIG.6):

&\ NOTE:

e Attach the top channel and side curtains to the air conditioner cabinet before
placing the cabinet in the window.

FIG.6

1. Locate provided bag of screws.

2. Place the top channel on top of the air conditioner cabinet, lining up the three

holes in the top channel with the three holes on top of the air conditioner cabinet. R .

3. Using three #10 X 1/4" pan-head Phillips thread cutting screws, attach the top A #10 X 1/4” pan-head Phillips
channel to the air conditioner cabinet. thread cutting screws

B. Top channel
Attach Side Curtains :
1. Locate provided bag of screws.
2. Insert the right-hand curtain connector tab into the curtain housing channels on the air conditioner (FIG.7A).

3. Insert the top and then the bottom of the right-hand curtain housing in the top and bottom curtain channels on the
air conditioner (FIG.7B, FIG.7C).

4. Slide the curtain housing into the curtain guides as far as it could go.
5. Repeat the above steps for the left-hand curtain.
FIG.7A A FIG.7B  Top view FIG.7C Bottom view

<=

—m).

= aSS
= K %\\

B
A. Side Curtain A. Curtain housing A. Curtain housing
B. Curtain top channel B. Curtain bottom channel
on air conditioner on air conditioner

3



Installation Instructions

Attach foam adhesive seal:
Attach foam adhesive seal along the bottom of the curtain bottom channel (FIG.8).

FIG.8 FIG.9 Angle of cabinet FIG.10
bracket securely seated L | | | A
on edge of inner sill. ! | 1 B
\ /
A Y & A
cabinet C
\B window Bracket |
inner sill L 1

A. Curtain housing window

B. Foam adhesive seal outer sill A. Window sash

Install Cabinet into Window: B. Empty cabinet

1. Center empty cabinet in window: C. Window channel

Check that lower rail of air conditioner cabinet is behind and against back side of window sill. Maintain a firm hold on
the air conditioner cabinet (FIG.9). Lower window sash to hold the cabinet in place. Measure the distance between the
right side of the cabinet and the inside of the window channel (FIG.10). Repeat for the left side. Adjust the cabinet until
the distance on each side is the same.
2. Attach the cabinet to window:
A: For wooden window:
Use a 3/16" drill bit to drill three starter holes 3/8" deep through the three holes in the cabinet and into the window sill,
and drill one starter hole 3/8" deep through the hole in the middle of top rail and into the window frame (FIG.11). Attach
cabinet to window with three #10 x 1/2" pan-head Phillips screws and one #10 X 1/2" round-head screw (FIG.11).
B: For Vinyl-Clad window:
Use a 1/8" drill bit to drill one hole through the hole in the middle of top rail and into the window frame. Attach cabinet
to window with one #10 x 1/2" round-head Phillips screw (FIG.11). Place two safety locks into the holes that located
in the bottom of the cabinet and drive two locking screws through the safety locks into the cabinet as shown (FIG.12)
3. Check that air conditioner is tilted back about 1 1/8" to 1 1/2" (tilted about 3° to 4° downward to the outside, see
FI1G.13). After proper installation, condensate should not drain from the overflow drain hole during normal use, correct
the slope otherwise. FIG.13

- \\\\FQ.Q FIG.12
— B

Window Sash
about 1 1/8"- 1 1/2"l

f

A - - - \_\—‘I\Side Louvers
A. #10 X 1/2" pan-head Phillips screws A #10 X 1/4" pan-head Phillips screws

A AA

B. #10 X 1/2" round-head screw B. Safety Lock ‘_\,’_V'.ndow Sil

C. Window channel Only for Vinly-Clad Window -
Attach Side Curtains to Window Frame: 1
1. Extend the side curtains out against the window frame L A FIG.14A ]

(FIG.11).
2. Drill holes and drive locking screws:
A: For wooden windows:
Use a 3/32" drill bit to drill 4 starter holes through the holes in
the side curtains into the window. Drive four #10 X 1/2" locking B
screws through the holes in the side curtains into the window E_
sill and window frame(FIG.14A, FIG.14B). C
B: For Vinyl-Clad windows: X
Use a 1/8" drill bit to drill two holes through the holes in the A. Window channel A. #10 X 1/2" round-head
side curtains into the window frame as shown (FIG.14A). B. left-hand furtaln screw
Drive two #10 X 1/2" locking screws through the holes in the C. #10 X 1/2" round-head B. Slotted hole in the
side curtains into the window sash (FIG.14A) screw bottom of the curtain

3. Trim the weather seal (6"X3/4"X1/12") with a proper length, peel off the protective backing and plug any gaps if
needed as shown (FIG.14B).



Installation Instructions

FIG.15

Complete Installation: P —— %
1. Insert window sash seal behind the top of the lower window sash and against 1 A

the glass of the upper window (FIG.15). 5 )
2. Place the window-lock bracket on top of lower window and against upper

window sash on right side of the window (FIG.15). D
3. Use a 3/32" drill bit to drill starter holes through the holes in the bracket into

the window sash (FIG.15).
4. Attach the window lock-bracket to the window sash with two #10 X 1/2" i

round-head screws to secure window in place (FIG.15). ‘
5. Insert air conditioner into cabinet (FIG.16). \
6. Reconnect electronics plug if present. Insert front tabs of front panel into top of ’* —

cabinet and swing front into place (FIG.17A). %
7. Attach bottom front of panel with front panel screws (FIG.17B).
8. Plug into a grounded 3 prong outlet. A. Window lock bracket
9. Press RESET on the power supply cord. B. Upper window glass
FIG.16 FIG.17A FIG.17B C. Window sash seal

D. #10X1/2" round-head

Through-the-Wall Cabinet Installation:

Option 1—wood, metal or plastic molding:

When using a wood, metal or plastic molding, the wood frame should line up with the inside wall as shown FIG.18.
Option 2—Plastered wall with no molding:

If the plastered wall is to be flush with the cabinet and no molding is used, the wood frame must be set 1/2" (13mm).
into the inside wall FIG.19.

FIG.19 FIG.20

FIG.18 ABC

vy}

= ) 1o
!

A. 16" (40.6 cm)

B. 22-5/8" (57.5 cm)
C. Wood thickness
A. Molding C. Wood frame A. Plastered wall  C. Wood frame D. 2-1/2" (6.4 cm) minimum to
B. Inside wall  D. Louvers B. Inside wall D. Louvers 6-1/2"(16.5 cm) maximum

Install Wood Frame:

1. Construct the wood frame. See FIG.20 for dimensions.

2. Measure the outside width and height of frame to determine wall opening dimensions. The wall opening
measurements should be :
* Width : 22-5/8" (57.5 cm) plus twice thickness of wood used to build frame.
* Height: 16" (40.6 cm) plus twice thickness of wood used to build frame.
* Depth : 2-1/2" (6.4 cm) minimum to 6-1/2" (16.5 cm) maximum.

. Cut the opening through the wall. Remove and save insulation.

. Apply the wood preservative to the outside exposed surface.

. Insert the frame in the wall opening. Square and level frame.

. Attach frame securely to the wall.

o oA~ W



Installation Instructions

FIG21 e A
&\ NOTE:

¢ Dimension for depth depends on wall thickness and type of molding \\
(FIG.21).

e Do not block louvers in air conditioner cabinet.

e Use 1" (2.5 cm) or thicker lumber for wood frame.

O¥e—— 1w —

A. Outside width C. Depth
B. Outside height

Install Cabinet into Wood Frame:

1. Insert cabinet into the framed wall opening. The top of the cabinet should extend 3/4" (19.1 mm) into the room. If
there is trim, the cabinet should extend 3/4" (19.1 mm) past trim (FIG.22).

. Use a level to check that cabinet is level side to side (FIG.23).

. Check that air conditioner cabinet is tilted to the outside so that water could run to the outside. The cabinet should
slop at least half-a-bubble towards the rear.

. Reuse the insulation to seal opening between cabinet and frame.

. Use existing holes in sides and top of cabinet and seven #10 X 1" wood screws (not provided) to attach cabinet to
frame.

6. Caulk all outside wall openings around cabinet.

w N

(S0

&\ NOTE:

¢ Do not overtighten screws or the cabinet will distort and provide a poor air seal between cabinet and air
conditioner.

B FIG.22 FIG.23

A. 3/4" (19.1 mm) extending into room ) 0
B. Trim A. level

Complete Installation:

1. Insert air conditioner into cabinet (FIG.24).

2. Reconnect electronics plug if present. Insert front tabs of front panel into top of cabinet and swing front into
place (FIG.25A).

3. Attach bottom front of panel with front panel screws (FIG.25B).

4. Plug into a grounded 3 prong outlet.

5. Press RESET on the power supply cord.

&\ NOTE:

e Handle the air conditioner gently .
o For through-the-wall installations, if needed, install molding around the room side of cabinet.

FIG.24 FIG.25A FIG.25B

electronics plug




Instrucciones de montaje

LEA ESTO ANTES DE MONTAR LA UNIDAD
Para el acondicionador de aire SLO3 (8,000~12,000 BTU)

IADVERTENCIAS PARA INSTALACION Y PRECAUCION

% Lea cuidadosamente el manual de instalacion antes de comenzar.

% Siga cada paso como se indica.

% Observe todos los codigos eléctricos locales, estatales y nacionales y haga la instalacion solo con personal calificado, matriculado y autorizado.
% Preste atencion a las notificaciones sobre peligro y seguridad.

Para evitar el riesgo de lesiones, de dafios materiales y de dafios al equipo debido a su peso y a los bordes afilados que puedan quedar

expuestos:

% Los aparatos de aire acondicionado detallados en este manual suponen un peligro por su excesivo peso. Es necesaria la intervencién de dos
0 mas personas para mover e instalar el equipo. Utilice guantes protectores cuando necesite levantarlo o moverlo. EVITE tocar las afiladas
aletas metdlicas que existen en el frontal y en la parte posterior. Para evitar lesiones y problemas musculares, emplee técnicas adecuadas de
levantamiento y desplazamiento del mismo.

% Inspeccione cuidadosamente la localizacién donde piensa instalar el equipo de aire acondicionado. Asegurese de que es capaz de soportar el
peso del mismo durante un largo periodo de tiempo.

% Manipule el aparato de aire acondicionado con cuidado.

% Evite que el aparato de aire acondicionado se caiga durante la instalacion.

Herramientas y piezas:
Reuna todas las herramientas y piezas requeridas antes de comenzar la instalacion. Lea y siga las instrucciones

provistas por todas las herramientas aqui listadas.
HERRAMIENTAS NECESARIAS

e Destornilladores plano y Phillips e Cinta métrica

e Taladros de 3/16", 1/8", 3/32" o menores

e Nivel

Instalacion en muros:
Ademas de las herramientas listadas arriba, para la instalacién en muros necesitara las siguientes herramientas.

HERRAMIENTAS NECESARIAS

e Sierra e Masilla o Tornillos del #10 x 1" para madera (7)

o Madera de 1" (2.5 cm) 0 mas grosor

Piezas suministradas:
Compruebe por favor que todas las piezas se encuentran en el embalaje:

Ferreteria Cant. Ferreteria Cant.

Tornillos Phillips del
#10 x 1/2" de cabeza conica 3

Tornillos del #10 x 1/2"
de cabeza redondeada 7 Burlete 1
Tornillos Phillips del

#10 x 1/4" de cabeza conica 5 ———————Sellado de espuma 1
Escuadra de bloqueo 1
K'/ de la ventana

Rail superior 1

|y | )

2 A, Bloqueo de seguridad
Paneles laterales 2 . (para ventanas de PVC) 2
«————— Burletes (6"x 3/4" x 1/12") 5
2020213A1640

1



Instrucciones de montaje
& NoTA:

e Las piezas suministradas para la instalacion son para ventanas de doble hoja de hasta 36" (91.4 cm) de ancho.
Existen un kit para ventanas anchas disponible en su distribuidor o centro de servicio. Vea "Accesorios".
e No use otros tornillos diferentes de los aqui especificados.

Requisitos de localizacién:

IMPORTANTE: Preste atencién a todas las normativas y ordenanzas gubernamentales. Revise la localizacion donde

instalara el acondicionador. La instalacion adecuada es su responsabilidad. Asegurese de que tiene todo lo necesario

para una correcta instalacion.

* Conexion eléctrica con conexién a asa dentro de un rango de 4 pies (122 cm) desde donde el cable de alimentacion
sale del acondicionador.

* Libre circulacion del aire en la estancia a enfriar.

* Una apertura suficientemente grande para el acondicionador de aire.

* Soporte de pared adecuado para el peso del acondicionador de aire. El acondicionador pesa entre 70 y 85
libras (32 y 40 kgs).

& NoTA:

e No use un cable alargador.

e Las rejillas de la carcasa no deben obstruirse. El aire debe poder circular libremente a través de las rejillas de la
carcasa. (FIG.1)

Instalacion en ventanas:

Medidas de la apertura de la ventana (FIG.2) :

* Ancho de la apertura entre 26-7/8" y 36" (entre 68.3 cm y 91.4 cm).
* Altura de la apertura de 16-1/2" (41.9 cm) como minimo.

FIGA FIG.2

>
— w

I

A. Rejillas de la carcasa A. 26-7/8" (68.3 cm) como minimo
B. 16-1/2" (41.9 cm) como minimo

Remueva el material de embalaje:

* Remueva y recicle / deseche los materiales de embalaje. Remueva los residuos de cinta adhesiva o pegamento de
las superficies antes de instalar el acondicionador de aire. Frote una pequefia cantidad de jabon liquido sobre los
restos de adhesivo con los dedos. Aclare con agua templada y seque.

* No utilice instrumentos afilados, alcohol de frotar, fluidos inflamables o limpiadores abrasivos para eliminar la cinta
adhesiva ni el pegamento. Estos productos pueden dafiar la superficie de su acondicionador de aire.

Manipule el acondicionador con cuidado.

*

1. Remueva el acondicionador de aire de su embalaje y coléquelo sobre un cartén.

2. Remueva 1 tornillo para envio de cada lado de la carcasa (FIG.3A).

3. Remueva el panel frontal sacando 1 tornillo Philips de cada lado del mismo. Guarde los tornillos a un lado (FIG.3B).

4. Rote el panel frontal hasta que las pestafias superiores queden liberadas. Tire del panel hacia afuera. Suelte el
pestillo del conector electronico (en algunos modelos) para liberarlo. Remueva el panel frontal de la unidad
(vea Fig.4).

5. Tire del asa para sacar el acondicionador fuera de la carcasa. Coloque el acondicionador sobre un cartén (FIG.5).

2



Instrucciones de montaje

FIG.4 FIG.5

VA conector electronico

A. tornillo para envio B. tornillo del panel frontal C. asa
&\ NOoTA:
¢ Manipule el acondicionador con cuidado.

e Asegurese de que la carcasa del acondicionador de aire no se cae al suelo durante la instalacion ni la desinstalacion.

e Ellugar por donde sale el cable de alimentacién no debe quedar a mas de 4 pies (122 cm) de distancia de un
enchufe de 3 clavijas con conexion a tierra.
¢ No bloquee las rejillas del panel frontal.

¢ No bloquee las rejillas del exterior del acondicionador.

¢ No levante, tire o remueva ningtn trozo de poliestireno expandido (espuma) del interior del acondicionador de
aire. No es material de empaquetado.

Ajuste el rail superior (FIG.6):
&\ NOTA:

¢ Instale el rail superior y los paneles laterales en la carcasa del
acondicionador antes de colocarla en la ventana.

FIG.6

1. Localice la bolsa de tornillos provista.

2. Ubique el rail superior en la parte superior de la carcasa, alineando sus tres
agujeros con los tres agujeros de la parte superior de la carcasa.

3. Usando 3 tornillos Phillips del #10 X 1/4" de cabeza cénica, ajuste el rail A. Tornillos Philips del #10 X 1/4"
superior a la carcasa del acondicionador. con cabeza conica

B. Rail superior

Ajuste los paneles laterales:

1. Localice la bolsa de tornillos provista.

2. Inserte la pestafia del conector del panel derecho en el rail del lateral del acondicionador (FIG.7A).

3. Inserte la parte superior y después la inferior del marco del panel derecho en los railes superior e inferior de la
carcasa (FIG.7B, FIG.7C).

4. Deslice el marco del panel en las guias tan a fondo como sea posible.

5. Repita los pasos descritos con el panel izquierdo.

FIG.7A A FIG.7B  Vista superior FIG.7C Vista inferior
J i i
—m. ‘
/
A BN

B
A. Panel lateral A. Marco del panel A. Marco del panel
B. Rail superior en el B. Rail inferior en el

acondicionador acondicionador



Instrucciones de montaje

Afada burlete adhesivo:
Afada el burlete de espuma adhesivo a lo largo de la parte inferior del rail inferior del panel (FIG.8).

FIG.8 FIG.9 Esquina del soporte de la carcasa FIG.10
afianzado sobre el borde del I—I | |
antepecho de la ventana. L | | é
\ /
N
A '\
soporte de C
\B antepecho la carcasa |
interior de " ]
A. Marco del panel la Vema”aamepecho
B. Burlete adhesivo de espuma exterior de A. Hoja de la ve:ntana
Instale la carcasa en la ventana: la ventana B. Carcasa vacia

1. Centre la carcasa vacia en la ventana: C. Rail de la ventana
Compruebe que el rail inferior de la carcasa del acondicionador queda por detras y sobre la parte exterior del antepecho
de la ventana. Sostenga firmemente la carcasa del acondicionador (FIG.9). Baje la hoja de la ventana para mantener la
carcasa en su lugar. Mida la distancia del lado derecho de la carcasa al interior del rail de la ventana (FIG.10). Repita la
operacion en el lado izquierdo. Ajuste la carcasa hasta que la distancia sea igual en ambos lados.

. Ajuste la carcasa a la ventana:

A: Para ventanas de madera:

Use una broca de 3/16" para taladrar tres agujeros guia a través de la carcasa y en el antepecho de la ventana, y
taladre un agujero guia de 3/8" de profundidad a través del agujero central del rail superior en el marco de la
ventana (FIG.11). Ajuste la carcasa a la ventana con tres tornillos Phillips del #10 de 1/2" de cabeza coénica y un
tornillo del #10 de 1/2" de cabeza redondeada (FIG.11).

B: Para ventanas de PVC:

Use una broca de 1/8" para taladrar un agujero a través del agujero central del rail superior en el marco de la
ventana. Ajuste la carcasa a la ventana con un tornillo Phillips del #10 x 1/2" de cabeza redondeada (FIG.11).
Coloque dos bloqueos de seguridad en los agujeros localizados en la parte inferior de la carcasa y atornille dos
tornillos autoblocantes a través de esos bloqueos y en la carcasa como se muestra (FIG.12).

3. Compruebe que el aire acondicionado esté inclinado hacia atras alrededor de 1 1/8" a 1 1/2" (inclinado de 3° a 4°

hacia abajo y afuera, vea FIG.13). Después de hacer la instalacion, el condensado no debe drenar por el orificio
de drenaje durante el uso normal, en caso lo contrario, corrija la inclinacion.

FIG.A1 FIG.13

\\\\\ N\ AN . ‘ FIG.12 Hoja de la ventana
— B ) ‘ I:l‘/ entre 11/8"11/2" |

f

N

A AA 3
A. Tornillos Phillips del #10 X 1/2" A. Tornillos Phillips del #10 X 1/4" Paneles laterales
de cabeza conica de cabeza conica Antepecho de la ventana
B. Tornillo del #10 X 1/2" de cabeza redondeada B. Blogueo de seguridad
C. Rail de la ventana Sélo para ventanas de PVC

Ajuste los paneles laterales al marco de la ventana:

1. Extienda los paneles laterales hacia fuera contra el marco de | A
la ventana (FIG.11).

2. Taladre agujeros en inserte los tornillos de bloqueo:
A: Para ventanas de madera:
Use una broca de 3/32" para taladrar 4 agujeros guia a través
de los agujeros de los paneles laterales y en la ventana. |
Atornille 4 tornillos de bloqueo del #10 de 1/2" a través de B
los agujeros de los paneles laterales y en el marco y g
antepecho de la ventana (FIG.14A, FIG.14B). c
B: Para ventanas de PVC: A. Rail de la ventana
Use una broca de 1/8" para taladrar 2 agujeros a través de  B. panel izquierdo
los agujeros en los paneles laterales y en el marco de la C. Tornillo del #10 X 1/2" A. Tornillo del #10 X 1/2" de
ventana como se muestra (FIG.14A). de cabeza redondeada " cabeza redondeada
Atornille dos tornillos de bloqueo del #10 X 1/2" a través de B. Agujero con zécalo en la
los agujeros de los paneles laterales y en la hoja de la ventana (FIG.14A). parte inferior del panel

3. Recorte los burletes (6" X 3/4" X 1/12") a un tamafio adecuado, quite la proteccion
del adhesivo y rellene cualquier hueco existente si fuera necesario tal como se muestra (FIG.14B).

FIG14A ™.




Instrucciones de montaje

Finalice la instalacion: FIG.15
e

1. Inserte el burlete por detras de la parte superior de la hoja inferior de la ventana y %
contra el cristal de la hoja superior (FIG.15).

2. Coloque la escuadra de bloqueo de la ventana en la parte superior de la hoja <amf)
inferior y contra la hoja superior en el lado derecho de la ventana (FIG.15).

3. Use una broca de 3/32" para taladrar agujeros guia a través de los agujeros de D
la escuadra y en la hoja de la ventana (FIG.15).

4. Ajuste la escuadra de bloqueo a la hoja de la ventana con 2 tornillos del #10 X 1/2"
de cabeza redondeada para mantener la ventana firmemente asegurada (FIG.15).

5. Inserte el acondicionador en la carcasa (FIG.16). ‘

6. Reconecte el conector eléctrico si existe. Inserte las pestafias del panel frontal en la \

parte superior de la carcasa y deslice el frontal en su sitio (FIG.17A). —
7. Ajuste la parte inferior del panel frontal con los tornillos del panel frontal (FIG.17B).
8. Conecte el enchufe a un tomacorriente de 3 clavijas con conexion a tierra.

=

’l

9. Presione el boton RESETEO en el enchufe del cable de alimentacion. A IEscuatdra de bloqueo de
a ventana

FIG.16 FIG.17A FIG.17B B. Cristal de la hoja superior
de la ventana

C. Burlete
D. Tornillos del #10 X 1/2"
de cabeza redondeada

»

A

conector electronict

Instalacion de la Carcasa en Muros:

Opcion 1 - Moldura de madera, metal o plastico:
Cuando use una moldura de madera, metal o plastico, el marco de madera debe quedar alineado con la pared
interior como se muestra en la FIG.18.

Opcién 2 - Pared enlucida sin moldura:

Si la pared enlucida va a ser nivelada con la carcasa y no se usa moldura, el marco de madera debe insertarse 1/2"
(13mm) hacia el interior de la pared (FIG.19).

FIG.18 ABC AB C FIG.19 FIG.20

A. 16" (40.6 cm)
B. 22-5/8" (57.5 cm)

; C. Grosor de la madera
A. Moldura C. Marco de A. Pared enlucida C. Marco de . o "
B. Interior de madera B. Interior de madera D. 2-1/2" (6.4 cm) minimo, 6-1/2
la pared D. Rejillas la pared D. Rejillas (16.5 cm) maximo

Instale el marco de madera:

1. Construya el marco de madera. Consulte las dimensiones en FIG.20.

2. Mida la anchura y altura exteriores del marco para determinar las dimensiones del agujero de la pared.
Estas deben ser:
* Ancho: 22-5/8" (57.5 cm) mas el doble del grosor de la madera usada en el marco.
* Altura: 16" (40.6 cm) mas el doble del grosor de la madera usada en el marco.
* Profundidad: 2-1/2" (6.4 cm) como minimo y 6-1/2" (16.5 cm) como maximo.

. Practique el agujero en la pared. Remueva y guarde el aislamiento.

. Aplique preservador de maderas en la superficie exterior que quede expuesta.

. Inserte el marco en el agujero de la pared. Encuadre y nivele el marco.

. Ajuste el marco firmemente a la pared.

o0 hA W



Instrucciones de montaje

FIG.21

A—
&\ NOTA:

e Las dimensiones de profundidad dependeran del grosor de la pared \\
y el tipo de moldura (FIG.21).

¢ No bloquee las rejillas de la carcasa del acondicionador.

e Use un taco de madera de 1" (2.5 cm) o mas grosor.

O¥e—— 1w —

A. Anchura exterior
Instale la carcasa en el marco de madera: B. Altura exterior

1. Inserte la carcasa en la apertura enmarcada de la pared. La parte superiorde la ¢ profundidad
carcasa debe entrar 3/4" (19.1 mm) en la estancia. Si va a colocar un marco, la
carcasa debera entrar 3/4" (19.1 mm) mas alla del marco (FIG.22).

2. Utilice un nivel para comprobar que la carcasa esta paralela al suelo (FIG.23).

3. Compruebe que la carcasa del acondicionador esta inclinada hacia fuera para
que el agua pueda salir. La carcasa debe inclinarse al menos media burbuja del
nivel hacia la parte trasera.

4. Redtilice el aislamiento para sellar el hueco entre la carcasa y el marco.

5. Use los agujeros existentes en los laterales y la parte superior de la carcasa y
7 tornillos de madera del #10 X 1" (no provistos) para ajustar la carcasa al marco.

6. Enmasille las aperturas exteriores de la pared alrededor de la carcasa.

&\ NoTA:

¢ No apriete los tornillos mas de la cuenta, de lo contrario la carcasa se deformara y provocara un sellado
deficiente entre ella y el acondicionador.

B FIG.22 FIG.23

A: 3/4" (19.1 mm) hacia el interior de la estancia ) 0
B. Marco A. Nivel

Finalice la instalacion:

1. Inserte el acondicionador en la carcasa (FIG.24).

2. Reconecte el conector eléctrico si existe. Inserte las pestafias del panel frontal en la parte superior de la carcasa y
deslice el frontal en su sitio (FIG.25A).

3. Ajuste la parte inferior del panel frontal con los tornillos del panel frontal (FIG.25B).

4. Conecte el enchufe a un tomacorriente de 3 clavijas con conexion a tierra.

5. Presione el boton RESETEO en el enchufe del cable de alimentacion.

& NoTA:
e Manipule el acondicionador con cuidado.

e Para instalaciones en paredes, si fuera necesario, instale una moldura alrededor de la parte de la carcasa que
da al interior de la estancia.

FIG.24 FIG.25A FIG.25B

conector electronico




Instructions d’installation

LIRE AVANT D’INSTALLER L’'UNITE
Pour climatiseur SLO3 (8,000~12,000 BTU)

AVERTISSEMENTS D'INSTALLATION ET ATTENTION

% Lisez attentivement le manuel d'installation avant de commencer.

% Suivez chaque étape comme indiqué.

% Respectez tous les codes électriques locaux, fédéraux et nationaux a I'aide de personnel qualifié, licencié et autorisé uniquement.

% Prétez attention aux avis de danger et de sécurité.

Pour éviter le risque de blessures a la personne, de dommages a la propriété ou de dommages au produit dd au poids de cet appareil et aux

bords tranchants qui peuvent étre exposés :

% Les climatiseurs couverts dans ce manuel posent un risque de poids excessif. Deux personnes ou plus sont nécessaires pour déplacer et
installer I'unité. Portez des gants de protection a chaque fois que vous soulevez ou portez I'unité. EVITEZ les ailettes métalliques tranchantes

sur les serpentins avant et arriére. Pour empécher les blessures ou les tensions, utilisez des techniques appropriées pour soulever et porter
lors du déplacement de l'unité.

% Inspectez avec précaution 'emplacement d'installation du climatiseur. Assurez-vous qu'il supportera le poids de I'unité pendant un période
prolongée.

% Manipulez le climatiseur avec précaution.

% Assurez-vous que le climatiseur ne tombe pas durant I'installation.

Outils et pieces :

Rassemblez les outils et pieces requises avant de commencer l'installation. Lisez et suivez les instructions fournies
avec tous les outils énumérés ici.

OUTILS NECESSAIRES

e Tournevis a lame plate et Philips e Ruban gradué

e Niveau e Perceuse et foret de 3/16", 1/8", 3/32", ou plus petit

Installation a travers le mur :
En plus des outils énumérés ci-dessus, les outils suivants sont nécessaires pour l'installation a travers le mur.

OUTILS NECESSAIRES

e Scie o calfatage e Vis a bois #10 X 1" (7)

e Bois de charpente de
2,5 cm (1") d’épaisseur ou plus

Pieces fournie :
Vérifiez que toutes les piéces sont incluses dans le paquet.

Matériel Qté. Mateériel Qté.
Vis Phillips a téte cylindrique -
E? large #10 X 1/2" 3 Canal supérieur 1
Vis a téte ronde #10 X 1/2" 7 Joint de chéassis de 1
fenétre

Vis Phillips a téte cylindrique )
large #10 X 1/4" S — Joint en mousse 1

o | v

()
bride de verrouillage de fenétre 1

Rideaux latéraux 2 @ Verrou de sdreté (pour fenétre 2
‘\“ a revétement en vinyle)
Q Joints d’étanchéité
(6"X3/4"X1/12") S
2020213A1640

1



Instructions d’installation

&\ REMARQUE :

e Les piéces d'installation sont fournies pour les fenétres a guillotine a deux chassis mobiles jusqu’a 91.4 cm (36")
de large. Un Kit pour fenétre large spécial est disponible chez votre revendeur ou centre de réparation. Voir
“Accessoires.”

¢ N'utilisez pas de vis autres que celles spécifiées ici.

Conditions d’emplacement :
IMPORTANT : respectez tous les codes et ordonnances en vigueur. Vérifiez 'emplacement d’installation du climatiseur.
L'installation appropriée est votre responsabilité. Assurez-vous que vous disposer de tout ce qui est nécessaire pour

l'installation appropriée.
* Sortie électrique mise a la terre dans les 122 cm (4 ft) de la sortie du cordon d’alimentation du climatiseur.

* Libre circulation de I'air dans la piéce a refroidir.
* Une ouverture assez grande pour le climatiseur.
* Un support mural adéquat pour le poids du climatiseur. Le climatiseur pése entre 32 et 40 Kg (70 et 85 Ibs).

&\ REMARQUE :

¢ N'utilisez pas de rallonge.
e Les grilles de boitier ne doivent pas étre obstruées. L'air doit pouvoir passer liborement a travers les grilles de

boitier. (FIG.1)

Installation pour fenétre :

Mesures de I'ouverture de fenétre (FIG.2) :

* Largeur d’ouverture de 68.3 cm a 91.4 cm (26-7/8" a 36").
* Hauteur d’ouverture de 41,9 cm (16-1/2") au minimum.

FIGA FIG.2

>
4— w

I |

A. 68,3 cm (26-7/8") au minimum
B. 41,9 cm (16-1/2") au minimum

A. Grilles de boitier

Retirer les matériaux d'emballage :

* Retirez et mettez au rebut / recyclez les matériaux d’emballage. Retirez les résidus de bande et de colle des
surfaces avant d'installer le climatiseur. Frottez une petite quantité de savon pour vaisselle sur I'adhésif avec votre
doigt. Nettoyez avec de I'eau chaude et séchez.

* N'utilisez pas d’instrument aiguisé, d’alcool a frottez, de fluide inflammable ou de nettoyant abrasif pour retirer la
bande ou la colle. Ces produits peuvent endommager la surface de votre climatiseur.

% Manipulez le climatiseur doucement.

1. Retirez le climatiseur du carton et placez-le sur le carton.

2. Retirez 1 vis d’expédition de chaque c6té du boitier (FIG.3A).
3. Retirez les panneaux avant en retirant 1 vis Phillips de chaque cété du panneau avant. Mettez les vis de coté et

conservez-les (FIG.3B).

4. Tournez le panneau avant vers le haut jusqu'a ce que les languettes se liberent. Sortez le panneau directement.
Abaissez le loquet sur la fiche électronique (sur certains modeéles) pour débrancher. Retirez le panneau avant de
I'unité (voir Fig. 4).

5. Tirez sur les poignées pour glisser le climatiseur hors du boitier. Placez le climatiseur sur le carton (FIG.5).

2



Instructions d’installation

FIG.3A FIG.3B FIG.4 FIG.5

fiche électronique

A. vis d’expédition B. vis de panneau avant C. poignée

&\ REMARQUE :

e Manipulez le climatiseur doucement.

e Assurez-vous que votre boitier de climatiseur ne tombe pas de I'ouverture durant l'installation ou le retrait.

e La sortie du cordon d'alimentation du climatiseur doit se situé au maximum a 122 cm (4 ft) d’une prise a trois
broches mise a la terre.

e Ne bloquez pas les grilles sur le panneau avant.

¢ Ne bloquez pas les grilles sur I'extérieur du climatiseur.

e Ne pas soulever, tirer sur ou retirer tout polystyrene étendu (mousse) de l'intérieur du climatiseur. Ce n'est pas
un matériel d’'emballage.

Fixer le canal supérieur (FIG.6) : FIG.6
&\ REMARQUE :
e Fixez le canal supérieur et les rideaux latéraux au climatiseur avant de
placer le boitier dans la fenétre.
1. Localisez le sac a vis fourni.
2. Placez le canal supérieur en haut du boitier du climatiseur, en alignant les trois o
trous dans le canal supérieur avec les trois trous sur le haut du boitier du climatiseur.
3. A l'aide de trois vis tranchantes Phillips a téte cylindrique #10 X 1/4", fixez le A. Vis tranchantes Phillips a téte
canal supérieur au boitier du climatiseur. cylindrique #10 X 1/4"
B. Canal supérieur
Fixer les rideaux latéraux :
1. Localisez le sac a vis fourni.
2. Insérez la languette de rideau droit dans les canaux de logement de rideau sur le climatiseur (FIG.7A).
3. Insérez le haut puis le bas du logement de rideau droit dans les canaux de rideau supérieur et inférieur sur le
climatiseur (FIG.7B, FIG.7C).
4. Glissez le logement de rideau dans les guides de rideau aussi loin que possible.
5. Répétez les étapes ci-dessus pour le rideau gauche.
FIG.7A A FIG.7B Vue de dessus FIG.7C Vue de dessous
4 N/
—m ‘
/
A B -
A. Rideau latéral A. Logement de rideau A. Logement de rideau
B. Canal supérieur de rideau B. Canal inférieur de rideau sur
sur le climatiseur le climatiseur

3



Instructions d’installation

Fixer le joint adhésif en mousse :
Fixez le joint adhésif en mousse le long du bas du canal inférieur de rideau (FIG.8).

FIG.8 FIG.9 Angle de la bride de boitier FIG.10
fermement assise sur le I—I | | A
bord du rebord interne. ! | 1 B
\ /
e
A '\ . "
bride de boitier C
\B |

A. Logement de rideau
B. Joint adhésif en mousse

Installer le boitier dans la fenétre : B. Boitier vide

. Centrer le boitier vide dans la fenétre : C. Canal de fenétre
Vérifiez que le rail inférieur du boitier du climatiseur se trouve derriére et contre le coté arriére du rebord de fenétre. Maintenez
fermement le boitier du climatiseur (FIG.9). Abaissez le chassis de fenétre pour maintenir le boitier en place. Mesurez la distance
entre le coté droit du boitier et I'intérieur du canal de fenétre (FIG.10). Répétez pour le c6té gauche. Ajustez le boitier jusqu’a ce
que la distance sur chaque c6té soit la méme.

. Attacher le boitier a la fenétre :
A: Pour les fenétres en bois :
utilisez un foret de 3/16" pour percer trois trous de départ de 3/8" de profondeur a travers les trois trous dans le boitier et dans le
rebord de fenétre, et percez trou de départ de 3/8" profondément a travers le trou au milieu du rail supérieur et dans le cadre de fenétre
(FIG. 11). Fixez le boitier a la fenétre avec trois vis Phillips a téte cylindrique #10 X 1/2" et une vis a téte ronde #10 X 1/2" (FIG.11).
B : Pour les fenétres a revétement en vinyle :
Utilisez un foret de 1/8" pour percer un trou a travers le trou au milieu du rail supérieur et dans le cadre de fenétre. Fixez le boitier a la
fenétre avec une vis Phillips a téte ronde #10 X 1/2" (FIG.11). Placez deux verrous de sireté dans les trous en bas du boitier et
enfoncez deux vis de blocage a travers les verrous de streté dans le cabinet comme illustré (FIG.12).

. Vérifiez que le climatiseur est incliné vers I'arriére d'environ 1 1/8 a 1 1/2 pouces (incliné de 3 a 4 degrés vers le bas a I'extérieur, voir
FIG.13). Apres une installation adéquate, le condensat ne doit pas s'écouler de l'orifice d'évacuation de trop-plein durant l'utilisation
normale, sinon corrigez a nouveau la pente.

rebord externe

de fenétre A. Chassis de fenétre

N

N

w

FIG.13 Chassis de fenétre

environ 1 1/8"- 1 1/2"

;

A AA
A. Vis Phillips a téte cylindrique large
#10 X 1/2"
B. Vis a téte ronde #10 X 1/2"
C. Canal de fenétre
Fixer les rideaux latéraux au cadre de fenétre :
1. Etendez les rideaux latéraux contre le cadre de fenétre. (FIG.11)
2. Percer des trous et enfoncer les vis de blocage :
A: pour les fenétres en bois : L A
Utilisez un foret de 3/32" pour percer 4 trous de départ a travers
les trous des rideaux latéraux dans la fenétre. Enfoncez quatre vis
de blocage de #10 X 1/2" a travers les trous des rideaux latéraux
dans le rebord de fenétre et dans le cadre de fenétre |
(FIG.14A, FIG.14B).
B : pour les fenétres a revétement en vinyle :

A. Vis Phillips & téte cylindrique large #10 X 1/4” Grilles latérales

B. Verrou de sireté
Uniquement pour fenétre a revétement en vinyle

Rebord de fenétre

FIG.14A FIG.148

Utilisez un foret de 1/8" pour percer deux trous de départ a travers

les trous des rideaux latéraux dans le cadre de fenétre comme

lustré (FIG.14A).

Enfoncez deux vis de blocage de #10 X 1/2" a travers les trous

des rideaux latéraux dans le chassis de fenétre (FIG.14A).

3. Découpez le joint d’étanchéité (6"X3/4"X1/12") a la longueur
appropriée, décollez le dos protecteur et bouchez tous les trous
si nécessaire comme illustré (FIG.14B).

4

L .

C

A. Canal de fenétre

B. Rideau gauche A. Vis a téte ronde

C. Vis a téte ronde 5 _‘::‘10 X2 X
#10 X 1/2" - Trou & crans en bas
du rideau



Instructions d’installation

FIG.15
Terminer I'installation : —— B
1. Insérez le joint derriére le haut du chassis de fenétre inférieur et contre la vitre 1 C/.\
de fenétre supérieure (FIG.15). L -y
2. Placez la bride de verrouillage de fenétre en haut de la fenétre inférieure et
contre le chassis de fenétre supérieur sur le coté droit e la fenétre (FIG.15). D
3. Utilisez un foret de 3/32" pour percer des trous de départ a travers les trous des
brides dans le chassis de fenétre (FIG.15).
4. Fixez la bride de verrouillage de fenétre au chassis de fenétre avec deux vis a :
téte ronde #10 X 1/2" pour sécuriser la fenétre en place (FIG.15). .
5. Insérez le climatiseur dans le bottier (FIG.16).
6. Rebranchez la fiche électronique si présente. Insérez les languettes avant du » —
panneau avant dans le haut du boitier et basculer I'avant en place. (FIG.17A). %
7. Fixez I'avant inférieur du panneau avec les vis de panneau avant (FIG.17B).
8. Branchez dans’une prise a 3 broches mise a la terre. A. Bride de verrouillage de fenétre
9. Appuyez sur REINITIALISER sur le cordon d’alimentation. B. Vitre de fenétre supérieure
FIG.16 FIGATA FIGA7B C. Joint de chassis de fenétre

D. Vis a téte ronde #10 X 1/2"

fiche électronique

Installation de boitier a travers le mur :

Option 1 — moulure en bois, métal ou plastique :

Lors de I'utilisation d’'une moulure en bois, métal ou plastique, le cadre en bois doit s’aligner avec le mur intérieur
comme illustré en FIG.18.

Option 2 — mur en platre sans moulure :

Si le mur platré doit étre au méme niveau que le boitier et qu'aucune moulure n’est utilisée, le cadre en bois doit étre
placé a 13 mm (1/2") dans le mur intérieur FIG.19.

FIG.18 [ & AB C FIG.19 _ Fmea

IR =
—2= T i

[ N vl °\ sy n )

RN AN
| )\\/ N [/ D B

S = )+
 [o

A. 40,6 cm (16")
B. 57,5 cm (22-5/8")
C. Epaisseur du bois
A. Moulure C. Cadre en bois A. Mur en platre  C. Cadre en bois  D. 6,4 cm (2-1/2") minimum a
B. Mur intérieur D. Grilles B. Mur intérieur D. Grilles 16,5 cm (6-1/2) maximum
Installer le cadre en bois :
1. Construisez le cadre en bois. Voir la FIG.20 pour les dimensions.
2. Mesurez la largeur et hauteur externe du cadre pour déterminer les dimensions de I'ouverture murale. Les
mesures d’ouverture murale doivent étre :
* Largeur : 57,5 cm (22-5/8") plus deux fois I'épaisseur du bois utilisé pour construire le cadre.
* Hauteur : 40,6 cm (16") plus deux fois I'épaisseur du bois utilisé pour construire le cadre.
* Profondeur : 6,4 cm (2-1/2") minimum & 16,5 cm (6-1/2") maximum.
3. Coupez I'ouverture a travers le mur. Retirez et conservez l'isolation.
4. Appliquez le conservateur de bois a I'extérieur de la surface exposée
5. Insérez le cadre dans I'ouverture murale. Réglez et mettez a niveau le cadre.
6. Fixez le cadre fermement au mur.

!



Instructions d’installation

FIG.21

A—

&\ REMARQUE

e La dimension pour la profondeur dépend de I'épaisseur du mur et \\
du type de moulure (FIG.21).

¢ Ne bloquez pas les grilles dans le boitier du ventilateur.

e Utilisez du bois de 2,5 cm (1") d’épaisseur ou plus pour le cadre
en bois.

O¥e—— 1w —

A. Largeur extérieure C. Profondeur
B. Hauteur extérieure

Installer le boitier dans la cadre en bois :

1. Insérez le boitier dans I'ouverture murale encadrée. Le haut du boitier doit s’étendre de 19,1 mm (3/4") dans la

piéce. S'il y a de la boiserie, le boitier doit s’étendre de 19,1 mm (3/4") apreés la boiserie (FIG.22).

Utilisez un niveau pour vérifier que le boitier est au méme niveau d’un c6té a I'autre (FIG.23).

. Vérifiez que le boitier du climatiseur est incliné vers I'extérieur afin que I'eau puisse s’écouler vers I'extérieur. Le
boitier doit avoir une pente d’eau moins une demi-bulle vers l'arriére.

. Réutilisez I'isolation pour reboucher I'ouverture entre le boitier et le cadre.

. Utilisez les trous existant dans les cotés et le haut du boitier et sept vis a bois #10 X 1" (non fournis) pour fixer le
boitier au cadre.

. Calfater toutes les ouvertures murales extérieures autour du boitier.

SN

(S0

6

&\ REMARQUE

¢ Ne serrez pas trop les vis ou le boitier se déformera et fournira une étanchéité a I'air médiocre entre le boitier
et le climatiseur.

B FIG.22 FIG.23

A. 19,1 mm (34/8") de protubérance dans la piéce ) 0 A
B. Boiserie A. niveau

Terminer I'installation :

1. Insérez le climatiseur dans le boitier (FIG.24).

2. Rebranchez la fiche électronique si présente. Insérez les languettes avant du panneau avant dans le haut du boitier
et basculer I'avant en place. (FIG.25A).

3. Fixez I'avant inférieur du panneau avec les vis de panneau avant (FIG.25B).

4. Branchez dans une prise a 3 broches mise a la terre.

5. Appuyez sur REINITIALISER sur le cordon d’alimentation.

&\ REMARQUE :

e Manipulez le climatiseur doucement.
o Pour les installations a travers le mur, si nécessaire, installez une moulure autour du cété piéce du boitier.

FIG.24 FIG.25A FIG.25B










